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Office of CHIEF ELECTRICAL ENGINEER/NCR/ALD 

eq[; fctyh bathfu;j dk;kZy;@mejs@bykgkckn 
 

Objective Type QUESTIONs BANK FOR Gr ‘B’ 70 % SELECTIONS(Total number of sheets =7 ) 

ओब्जेक्टिव प्रकार के xzqi ^ch^70 % p;u ds fy, iz”u cSad ¼”khVksa dh dqy la[;k = 7½ 
 

Date of Issue: 4th January 2012 
fuxZr djus dh frfFk % 04 tuojh 2012 

With further reference to the Bank of Questions issued on 14
th

 Dec’11, following is the 

Objective Type Bank of Questions for Gr B Selections (70% GDCE) of Electrical Department 

for general guidance of prospective candidates. Other points mentioned in the Question Bank of 

14
th

 Dec11 are applicable here also. 

 

 14 दिसम्बर 2011 को जारी ककये गए iz”u&cSad के ØdØØØe esa, fuEufyf[kr ओब्जेक्टिव प्रकार 
के iz”u&cSad fctyh foHkkx ds xzqi ^ch^ p;u ¼70% GDCE½ ds visf{kr vH;fFkZ;ksa ds lkekU; 

fn”kk&funsZ”k ds fy, जारी ककये जाते हैं AA A14 दिसम्बर 2011 को जारी ककये गए iz”u&cSad esa 

fn, x, vU; fcUnq ;gkW ij Hkh ykxw gksrs gSa %& 

 
A: TRACTION DISTRIBUTION ¼d’kZ.k forj.k½ 

 
1. The OHE span varies between 72m and 27m in steps of  

(a) 9m (b) 4.5m (c) 10m (d) 18m 
72 eh- vkSj 27 eh- ds chp esa vks,pbZ LiSu fdu LVsIl esa cnyrk gS  

(a)9 eh- (b) 4.5 eh- (c) 10 eh- (d) 18 eh- 
2. The stagger is provided in contact wire to ensure uniform wear of current collecting strips 

of the pantograph.   (Indicate whether True or False) 
iS.VksxzkQ ds djsUV dysD”ku fLVªIl ds ;wfuQkeZ fovj dks lqfuf”pr djus ds fy, daVSDV ok;j 

esa LVSxj fn;k tkrk gS % ¼crk;sa fd dFku lR; ;k vlR; gS½ 

3. In insulated overlap, the conductors of two OHE are kept apart at a distance of 
(a) 200mm (b) 350mm (c) 500mm (d) none of the above. 
balqysVsM vksojySi esa] nks vks,pbZ ds daMDVlZ dks fdruh nwjh ij vyx j[kk tkrk gS %  
(a) 200 feeh- (b) 350 feeh- (c) 500 feeh- (d) buesa ls dksbZ ugha 

4. Neutral section is provided at  
(a) SSP  (b) SP  (c) Signal (d) none of the above. 
U;wVªy lsD”ku dgkW izksokbM fd;k tkrk gS % 
(a) ,l,lih (b) ,lih (c) flxuy (d) buesa ls dksbZ ugha 
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5. Normally the implantation of obligatory structure should not be less than 
(a) 2.36m (b) 2.5m (c) 3.00m (d) 5.00m. 
lkekU;r;k vkWCyhxsV~jh LVªDpj ds bEIykaVs”ku --------- ls de ugha gksuh pkfg, 

(a) 2.36 eh- (b) 2.5 eh- (c) 3.00 eh- (d) 5.00 eh- 
6. Which one of the following maintains the tension of OHE conductors constant under all 

ambient temperature conditions 
(a) Cantilever (b) Regulating Equipment (c) Insulator (d) G-Jumper. 
lHkh O;kid rkieku dh n”kkvksa ds varxZr fuEufyf[kr esa ls dkSu vks,pbZ daMDVlZ ds VsU”ku dks 

yxkrkj esUVsu djrk gS %  

(a) dSUVhyhoj (b) jsxqysfVax midj.k (c) balqysVj (d) G-tEij. 
7. At level crossings, the minimum height of contact wire from the rail level shall be 

(a) 6.00m (b) 5.8m (c) 5.5m (d) 4.8m. 
ysoy ØkflaXl ij] jsy ysoy ls daVSDV ok;j dh fuEure ÅWpkbZ gksuh pkfg;s %  

(a) 6.00 eh- (b) 5.8 eh- (c) 5.5 eh- (d) 4.8 eh- 
8. At turn out, the Height difference between contact wires of turn out OHE and mainline 

OHE is about 
(a) 200mm (b) 100mm (c) 10mm (d) 50mm 
VuZ vkmV ij] VuZvkmV vks,pbZ ds daVSDV ok;j vkSj esuykbu vks,pbZ ds chp nwjh yxHkx gksrh 

gS %  (a) 200 feeh- (b) 100 feeh- (c) 10 feeh- (d) 50 feeh- 
9. Write full form of SCADA system. ¼LdkMk flLVe dk foLrkj :i fy[ksaA½ 
10. In case of excessive gas formation due to internal faults in a Transformer, which relay will 

operate  
(a) Differential  (b) Buchholz  (c) Mho  (d) Static. 
vR;f/kd xSl fuekZ.k dh n”kk esa VªkalQkeZj ds vkarfjd [kjkfc;ksa dh otg ls] dkSu lk fjys 

lapkfyr gksxk % 

(a) fMQjsaf”k;y (b) cqdksYl (c) Egks  (d) LVSfVd 
11. The combined resistance of earthing system of a Traction substation should not exceed  

 (a) 0.5 ohm (b) 10 ohm (c) 1.0 ohm (d) none of the above.  
,d VªSD”ku lc&LVs”ku dh vfFkZax flLVe ds la;qDr jftLVsal vf/kd ugha gksuh pkfg, %  
(a) 0.5 vkse (b) 10 vkse (c) 1.0 vkse (d) buesa ls dksbZ ugha 

12. In case of bridging of OHEs at the two ends of a neutral section by a loco, which relay shall 
operate  
(a) IDMT  (b) wrong phase coupling (c) differential   (d) Earth fault 
,d yksdks }kjk U;wVªy lsD”ku ds nksuksa fdukjksa ij vks,pbZ ds czhftax dh n”kk esa] dkSu lk fjys 

lapkfyr gksxk % 

(a) vkbZMh,eVh (b) xyr Qst difyax  (c) fMQjsaf”k;y  (d) vFkZ QkYV 
13. Tower Wagon checking of OHE is carried out  

(a) Yearly (b) half yearly  (c) quarterly   (d) once in two years. 
vks,pbZ dk Vkoj oSxu tkWp iwjk fd;k tkrk gS % 

(a) okf’kZd  (b) v)Zokf’kZd  (c) =Sekfld  (d) nks o’kZ esa ,d ckj 
14. In case of power line crossings of railway tracks; the distance of the nearest structure of 

10m height from railway track should not be less than  
(a) 10m  (b) 16m (c) 20m  (d) 3m. 
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jsyos VªSd ds ikWoj ykbu Økflax dh fLFkfr esa] 10m ÅWpkbZ ds fudVre LVªDpj dh nwjh jsyos 

VªSd ls fdruh ÅWpkbZ ls de gksuh pkfg, %  

(a) 10 eh-  (b) 16 eh- (c) 20 eh- (d) 3 eh- 
15. The smallest section of OHE which can be isolated from the rest of the system by manual 

operations is called   
(a) sector (b) elementary section (c) sub sector   (d) none of the above 
vks,pbZ dk lcls NksVk lsD”ku tks eSU;wvy vkWijs”ku ds }kjk vkblksysV fd;k tk ldrk gS] 

dgykrk gS % 

(a) lsDVj  (b) izkFkfed lsD”ku  (c) lc&lsDVj  (d) buesa ls dksbZ ugha 
 
B: TRACTION ROLLING STOCK MAINTENANCE & OPERATION 

VªSD”ku jkWfyax LVkWd j[k&j[kko o lapkyu 

 
1. The minimum air pressure required for complete raising of the pantograph is  

(a) 3.5 kg/cm2 (b) 4.5 kg/cm2  (c) 7.5 kg/cm2  (d) 3.1 kg/cm2. 
fdlh iS.VksxzkQ ds iw.kZ p<+ko ds fy, vko”;d fuEure ok;q nkc gksrk gS %  

(a) 3.5 kg/cm2 (b) 4.5 kg/cm2  (c) 7.5 kg/cm2  (d) 3.1 kg/cm2. 
2. The tap changer of loco transformer is driven by  

(a) HOM  (b) SMGR (c) MP  (d) none of the above. 
yksdks VªkalQkeZj ds VSi psUtj fuEu }kjk [khaps tkrs gSa %  

(a) ,pvks,e (b) ,l,ethvkj   (c) ,eih (d) buesa ls dksbZ ugha 
3. In case of earth fault in Traction transformer of loco the target of which relay will drop 

(a) QOP  (b) QVRC (c) QLM (d) QRSI. 
yksdks ds VªSD”ku VªkalQkeZj ds vFkZ QkYV dh fLFkfr esa fdl fjys dk VkjxsV uhps fxj tk,xk %  

(a)QOP  (b) QVRC (c) QLM (d) QRSI 
4. Co-Co loco will have how many axles?   

(a) 6  (b)  4  (c) 8  (d) 9 
Co-Co yksdks esa fdrus ,Dly gksaxs % 

(a) 6  (b)  4  (c) 8  (d) 9 
5. The time gap between two consecutive schedules of a WAG-5 loco is normally 

(a) 45 days (b) 50 days (c) 60 days (d) 135 days. 
,d WAG-5 yksdks ds nks yxkrkj “ksM~;wYl esa le;&varjky lkekU;r;k gksrk gS %  

(a) 45 fnu  (b)  50 fnu  (c) 60 fnu  (d) 135 fnu 
6. Normally recabling of locomotive is done in  

(a) 18 years (b) 10 years (c) 12 years (d) 15 years. 
lkekU;r;k yksdkseksfVo dh fjdScfyax gksrh gS % 

(a)18 o’kksZa ij  (b) 10 o’kksZa ij (c) 12 o’kksZa ij (d) 15 o’kksZa ij 
7. If a loco pilot has not operated the train on a section for over 6 months but not more than 

2 years, how many road learning trips are required? 
;fn ,d yksdks ik;yV us 6 eghus ls T;knk fdarq 2 lky ls de le; ds fy, xkM+h ugha pykbZ 

gS rks mls jksM yfuZax dh fdruh fVªIl nsuh iM+saxh \ 

(a) 2 trips (b) 1 trip (c) 3 trips (d) no road learning trips are required. 
(a) 2 fVªi  (b) 1 fVªi (c) 3 fVªi    (d) fdlh jksM yfuZax fVªi dh vko”;drk ugha gksrh gSA 
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8. PME of a loco pilot aged 45 to 55 years shall be done in every 
(a) One year  (b) five years (c) two years (d) when doctor desires. 
45 ls 55 vk;q oxZ ds yksdks ik;yV dh PME fdrus varjky ij gksrh gS %  

(a) 1 o’kZ ij  (b) 5 o’kksZa ij (c) 2 o’kksZa ij    (d) tc MkWDVj dh bPNk gksrh gSA 
9. The call book to the loco pilots is sent usually  

(a) One hour (b) three hours         (c) four hours             (d) two hours in advance.  
yksdks ik;yVksa dks dkWy cqd izk;% fdruk igys Hkstk tkrk gS %  

(a) 1 ?k.Vk  (b) 3 ?k.Vk  (c) 4 ?k.Vk (d) 2 ?k.Vk 
10. The BP/FP isolating cocks in the rear cab of a locomotive should be in  

(a) open position (b) closed position (c) any position. 
,d yksdkseksfVo ds fiNys dSc esa BP/FP vkblksysfVax dkWDl~ fdl fLFkfr esa gksuh pkfg, %  

(a) [kqyh fLFkfr esa  (b) can fLFkfr esa  (c) fdlh Hkh fLFkfr esa 

11. In case of multiple unit operation of locomotives when DJ of trailing loco trips due to 
internal fault, the DJ of leading loco  
(a) trips  (b) does not trip. 
yksdkseksfVOl~ ds eYVhiy ;wfuV vkWijs”ku dh fLFkfr esa tc Vªsfyax yksdks dk DJ vkarfjd [kjkch 

dh otg ls fVªi gksrk gS] yhfMax yksdks dk DJ :  
(a) fVªi djrk gS   (b) fVªi ugha djrk gSA 

12. During movements of trains on curves the adhesion  
(a) decreases (b) increases (c) firstly increases then decreases (d)none of the above. 
?kqeko ij xkfM+;ksa ds xfr ds nkSjku ,Mgslu % 

(a) ?kVrk gS  (b) c<+rk gS (c) igys c<+rk gS fQj ?kVrk gS (d) buesa ls dksbZ ugha 
13. With increase in the gear ratio of locomotive, the torque 

(a) increases (b) decreases (c) does not change (d) none of the above. 
yksdkseksfVo ds fxvj jsf”kvks esa o`f) ds lkFk] VkdZ: 
(a) c<+rk gS (b) ?kVrk gS   (c) cnyrk ugha gS (d) buesa ls dksbZ ugha 

14. The permissible maximum flange wear of the loco wheel is  
(a) 3mm  (b) 6mm (c) 15mm (d) 10mm. 
yksdks ifg, ds Lohd`fr ;ksX; vf/kdre ¶ySat fovj gksrh gS %  

(a) 3 feeh- (b) 6 feeh- (c) 15 feeh- (d) 10 feeh- 
15. Cardium compound is used in   

(a) Loco transformer (b) traction motor (c) axle box (d) gear case of loco. 
dkfMZve dEikm.M dgkW iz;ksx fd;k tkrk gS % 

(a) yksdks VªkalQkeZj (b) VªSD”ku eksVj  (c) ,Dly ckWDl  (d) yksdks dk fxvj dsl 
16. Most of present electric locomotives are equipped with axle boxes having  

(a) Cylindrical roller bearing  (b) ball bearings (c) suspension bearing  
(d) none of the above. 
vkt ds vf/kdka”k fo|qr batu ,Dly ckWDl~ ls iz;qDr gksrs gSa ftlesa %  

(a) flfyafMªdy jkWyj fcvfjax (b) ckWy fcvfjax  (c) lLisU”ku fcvfjax  (d) buesa ls dksbZ ugha 

yxh gksrh gSA 
17. In 3 phase locomotives the auxiliaries are getting electric supply from 

(a) Arno converter (b) rectifier unit (c) static converter (d) none of the 
above. 
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3 Qst yksdkseksfVOl~ esa auxiliaries fo|qr vkiwfÙkZ fdlls izkIr dj jgs gSa %  

(a) vkuksZ duoVZj  (b) jsDVhQk;j ;wfuV  (c) LVSfVd duoVZj  (d) buesa ls dksbZ ugha 
 

C: ELECTRICAL GENERAL & TRAIN LIGHTING ¼fo|qr lkekU; o xkM+h izdk”k½ 
 
1. The minimum height of any conductor of low tension overhead line across any street shall 

be  
(a) 5.5 m (b) 8 m  (c) 5.8 m (d) 6.1 m. 
fdlh lM+d ij yks VsU”ku vksojgsM ykbu ds fdlh daMDVj dh fuEure ÅWpkbZ D;k gksxh %   

(a) 5.5 eh- (b) 8 eh- (c) 5.8 eh- (d) 6.1 eh- 
2. Write full form of XLPE.  XLPE dk foLrkj :i fy[ksa % 
3. The power factor of the load measuring 80kW and 100kVA will be  

(a) 1.0  (b) 0.8  (c) 0.9  (d) none of the above.  
80kW o 100kVA eki okys yksM dk ikWoj QSDVj gksxk % 
(a) 1.0 - (b) 0.8   (c) 0.9  (d) buesa ls dksbZ ugha 

4. At 90% humidity, the effective temperature will be  
(a) same as (b) more than  (c) less than  (d) the normal temperature. 
90% vknZzrk ij] izHkkodkjh rkieku gksxk %  
(a) ,d leku - (b) vf/kd gksxk   (c) de gksxk (d) lkekU; rkieku 

5. The capacity of alternators provided in sleeper coaches is  
(a) 25 kW (b) 18 kW (c) 7.5 kW (d) 4.5 kW. 
“k;u;ku cksfx;ksa esa fn, tkus okys vYVjusVlZ dh {kerk gksrh gS %  

(a) 25 kW  (b) 18 kW (c) 7.5 kW (d) 4.5 kW. 
6. In what type of coaches; the Vane Relay is provided  

(a) Sleeper (b) Air-conditioned (c) General (d) SLR. 
fdl izdkj ds cksfx;ksa esa] Vane Relay yxk, tkrs gSa %  
(a) “k;u;ku (b) okrkuqdwfyr  (c) lkekU; (d) ,l,yvkj 

7. The cell of lead acid battery having 1220 specific gravity shall be considered as  
(a) Fully charged (b) discharged  (c) partially charged  (d) none of above. 
1220 fof”k’V xq:Ro okys ysM ,flM cSVjh ds lsy dks le>k tk,xk %  
(a) iwjh rjg ls pktZ (b) fMLpktZM~ (c) vkaf”kd pktZ  (d) buesa ls dksbZ ugha 

8. The alternator of self generating AC coach leaving primary depot should have how many 
belts 
(a) 5+5  (b) 6+5  (c) 5+4  (d) 6+6. 
Lopkfyr AC cksfx;ksa ds vYVjusVj esa izkFkfed fMiks ls fudyrs oDr fdrus csYV gksus pkfg, %  
(a) 5+5  (b) 6+5  (c) 5+4  (d) 6+6 

9. CFL are preferred as compared to incandescent lamp because of 
 (a) high efficacy  (b) longer life  (c) low energy consumption (d) all of the 

above. 
mn~nhIr ySEi dh rqyuk esa CFL T;knk iz;ksx esa yk, tkrs gSa] fuEu dkj.k ls%  

(a) mPp {kerk  (b) vf/kd fVdkÅ  (c) fuEu ÅtkZ [kir  (d) buesa ls lHkh 
10. Which of the following has highest luminous efficacy  

(a) HPSV lamps  (b) Halogen lamps  (c) CFLs  (d) LPSV. 
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fuEu esa ls fdldh T;knk yweul {kerk gS %  

(a) ,pih,loh ySEIl~ (b) gSykstu ySEIl~  (c) lh,Q,y  (d) ,yih,loh 
11. We should conserve electrical energy because 

 (a) there is shortage of electrical energy 
(b) there are limited resources 
(c) to save earth from global warming 
(d) all of the above 
gesa fo|qr ÅtkZ dks lajf{kr djuk pkfg, D;ksafd %  
(a) fo|qr ÅtkZ dh deh gS 

(b) lalk/ku lhfer gSa 
(c) oSf”od xehZ ls /kjrh dks cpkus ds fy, 
(d) buesa ls lHkh 

12. The benefit/benefits of providing gravels in the switch yard is/are  
(a) Increase in safety of personnel against shocks  (b) prevention of spread of 

oil splashes   (c) controlling of weeds   (d) all of above. 
Lohp ;kMZ esa fn, tkus okys xzSoy ds ykHk gS@gSa % 
(a) fo|qrh; rjaxksa ds fo:) deZpkfj;ksa ds lqj{kk esa c<+ksRrjh ds fy, 
(b) rsy ds fc[kjko dks jksdus ds fy, 
(c) ?kklikr dks daVªksy djuk 
(d) buesa ls lHkh 

13. The earth resistance of a small substation should not exceed 
(a) 0.5 ohm  (b)  1 ohm  (c) 2 ohm   (d) 10 ohm 
,d NksVs lc&LVs”ku dh vFkZ jftLVsal blls vf/kd ugha gksuh pkfg, %  

(a) 0.5 vkse (b) 1 vkse (c) 2 vkse (d) 10 vkse 
14.  Now a-days which type of lightening arrestors are preferred and provided in Electric 

substations  
(a) Rod gap type   
(b) expulsion type   
(c) conventional value type   
(d) Zinc oxide gapless type. 
vktdy fdl izdkj ds ykbVfuax vjsLVlZ iz;ksx fd, tkrs gSa vkSj fo|qr lc&LVs”kuksa esa iz;qDr 

fd, tkrs gSa % 

(a) jkM xSi Vkbi 
(b) ,DliYlu Vkbi 
(c) dUosU”kUy oSY;w Vkbi 
(d) ftad vkWDlkbM xSiysl Vkbi 

15.    The uninterrupted power supply (UPS) system contains  
 (a) Rectifier  (b) Inverter   (c) Battery   (d) All of the above. 

fufoZ?u fo|qr vkiwfÙkZ (UPS) iz.kkyh esa gksrk gS % 

(a) jsDVhQk;j  (b) bUoVZj (c) cSVjh (d) buesa ls lHkh 
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D: ESTABLISHMENT, FINANCE Etc. ¼LFkkiuk] foÙk bR;kfn½ 
 
1. The pink book is prepared by  

(a) Division (b) Zonal Railway Head Quarter      (c) Railway Board   (d) All of the above. 
fiad cqd rS;kj fd;k tkrk gS % 

(a) e.My }kjk (b) {ks=h; jsyos eq[;ky; }kjk (c) jsyos cksMZ }kjk (d) buesa ls lHkh 
2. Which one of the following will be considered as best operating ratio  

(a) 70%    (b) 100%      (c) 115%     (d) 90%. 
fuEu esa ls fdls loZJs’B vkWijsfVax jsf”k;ks ekuk tkrk gS % 

(a) 70%    (b) 100%      (c) 115%     (d) 90%. 
3. As per job analysis, SSE/Electrical come under the category  

(a) Intensive    (b) essentially intermittent      (c) continuous     (d) excluded. 
dk;Z fu/kkZj.k ds vuqlkj] o-[k-vfHk;ark@fo|qr fdl oxZ esa vkrk gS % 

(a) xgu (b) vko”;d :i ls ck/;dkjh (c) vuojr (d) vyx&Fkyx 
4. The Factory Act 1987 is applicable to Loco sheds of Indian Railways (indicate whether 

statement is true or false).  
Hkkjrh; jsyos ds yksdks “ksMksa esa QSDVjh vf/kfu;e] 1987 ykxw gS % ¼crk;sa fd dFku lR; ;k 

vlR; gS½ 
5. How many passes and PTOs can be taken by a Group ‘C’ employee during his second year 

of service?  
(a) 3 privilege passes + 4 PTOs (b) 1 privilege passes + 4 PTOs  (c) 6 privilege 

passes + 4 PTOs   (d) none of above. 
xzqi ^lh^ deZpkjh }kjk muds nwljs lky esa fdrus ikl o ihVhvks fy;k tk ldrk gS % 

(a) 3 lqfo/kk ikl + 4 lqfo/kk fVdV vkns”k  (b) 1 lqfo/kk ikl + 4 lqfo/kk fVdV vkns”k 
(c) 6 lqfo/kk ikl + 4 lqfo/kk fVdV vkns”k (d) buesa ls dksbZ ugha 
 

 
*********************** 

 


